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HISTORY
( Major )
Paper : 5-1
( India ﬁnder the East India Company )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7

@51 ¥ 37 @51 IS Teq fi

(a What was a Farman?

Ffi e &2

(b)) When did the Sannyasi Rebellion take
place?

S Reurz e skefbe tfst 2

() Who was the first Indian ruler to sign
the Subsidiary Alliance?

wh@yﬁiﬂﬁﬁ@wawmﬁ
P (P SIee 2
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(2)

(d) When was the Treaty of Seringapatam
signed?

HeweGae A (ofom FreRe 2kE ?

(e) Mention the Act that ended the trade
monopoly of the East India Company in
India.

TReAEE 3B HW @A aIRaAl IS
SR TCORT by Teard 4 |

{fi Who was U. Tirot Sing?
. fors fix = = 2

(gg Who is the author of the book,
The Indian War of Independence, 18577

. The Indian War of Independence, 1857
SAFYA I5RS] & 2

2. Answer the following in brief :- 2x4=8
woTe franaRe vy e fr

. (a) Mention two provisions of the
Regulating Act.

‘arafte a3’ 71 56 TrEe w40 |

(b) Name two States brought under the
Doctrine of Lapse. .

FIRCTA T SETS e T 74 07
1 fors o
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(3)

() What was -the Dual System of
administration in Bengal?
THOPR 07 P IRF W e S1feet 2

(d) Mention two provisions of the Treaty of

Sagauli.
SCAT R 1 0 SR 4
3. Write short notes on any three of the
following : 5x3=15

oo framae R e fefor esme o Gl for
(a) Subsidiary Alliance
I oval NS
(b) Commercialization of Agriculture
R FfderFa
(c) Third Battle of Panipat
NI4T PO Ta
(d) The Santhal Rebellion
méee f[{raz
fe)} Bahadur Shah Jafar
qIE 7R EHFY
4. Answer any three of the following : 10x3=30
wore AR R e folbR Tew fort

(a) Compare the significance of the Battle of
Plassey and Buxar in the context of
foundation of British Rule in India.

oRes it 1 dfebn crae =N 37 e
THR TaF O ol 9 |
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(4)

(b) Trace the rise of Sikh power under
Ranjit Singh and give brief account of
Anglo-Sikh relation during the rule of
the East India Company.

e v cToge Py e Bame @b o9
uES T AR W eW @ P
IR F9-FRY o7 Raca vapess foran o

(c) What were the factors that led to the
decline of traditional industries in
India?

SROY ARG SITPIYRA AT FRICIN
& wnfEe 2

(d) Discuss the features of the Permanent
Settlement in Bengal. What were its
impacts on the landlords, peasants and
the Government?

R Bl TR (IRPER wEma
| ®AME, FIF OY IR 8RO /R
AR F wifee 2

(e} Discuss the significance of the Peasant
Uprising in India in the period under
the East India Company.
2B 8T @R TS SReIs TS @[
59 RearTRa ey S 4 |

()  “The Revolt of 1857 can be called as the
first war of India’s independence.” Do
you agree? Give reasons.

“sreq i Reue sRee TeR A9y 39
I 3 AR 7 o e 2 e wsracen |
. * k k
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